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A/ Comprehension:
1- Answer the following questions according to the text:   
a- What is the main function of banks?   (1pt)
Is to keep their depositors’ money safe and readily available.
b- Explain the difference between deposit account and current account? (1pt)                            
A “deposit account” is made for a fixed period and is allowed a low rate of interest. A “drawing account” does not bear any interest but the customer may draw on his money at any time and he is given a cheque book for his transactions and payments.
c- Why the letters of credit is needed abroad? (1pt)
The letters of credit is needed abroad in order to transfer money.
d- What is meant by the Stock Exchange? (1pt)
The Stock Exchange is a place where dealers in securities meet to transact business.
2- Match each concept with its appropriate definition:
           (a-2) (b-1) (c-4) (d-3)
3. Identify the clause(s) of each sentence (Determine whether the clause is dependent or independent)
1. Some airlines definitely will not decrease their prices ( independent clause)
because their revenue is falling. ( dependent clause)

2. money is borrowed  (independent clause)
so that we buy a house or an apartment. (dependent clause)

3. the stock exchange is a place   ( independent clause)
where dealers in securities meet to transact business. (dependent clause)
4. We will look for another shipping agent  (independent clause)
if we continue to have problems with deliveries. (dependent clause) 

5. It has been a difficult year  (independent clause) 
; however, earnings per share increased twenty percent. ( dependent clause)

6. A headquarter is a place  (independent clause)
 where the company is located. ( dependent clause)

4- Determine the type of dependent clause(s) in each sentence (nominal, relative,or subordinate clause ) :

1. Tax evasion is an illegal activity which aims to reduce tax revenues. (Relative clause)


2. Demand is the amount of goods and services that people want in a particular period (Relative Clause)


3. We remain extremely cautious in our approach even though we are very positive about the operation. (Subordinate clause)


4. experts knows when  the price of gold increases. (Nominal clause) 


5. The crisis would have been defused very quickly if we had brought in a consultation. (Subordinate clause) 


6. [bookmark: _GoBack]Transactions are effected through stockbrokers, who help their customers to make investments by buying securities. (Relative clause)
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